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If nis a positive integer and the product of all the integers from 1 to n, inclusive, is divisible by 990, what is the least possible value of n?

A 8
B 9
c 10
D 11
E 12
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The interior of a rectangular carton is designed by a certain manufacturer to have a volume of x cubic feet and a ratio of length to width to height of 3:2:2. In terms of x, which
of the following equals the height of the carton, in feet?
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Each year for 4 years, a farmer increased the number of trees in a certain orchard by % of the number of trees in the orchard the preceding year. If all of the trees thrived and

there were 6,250 trees in the orchard at the end of the 4-year period, how many trees were in the orchard at the beginning of the 4-year period?

1,250

A

B 1,563
C 2,250
D

2,560

E 2752
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If 3 <x <100, for how many values of x is %the square of a prime number?
Four

A
B Three
c
D

Five

E Nine
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Ifn = 33% + 4333 what is the units digit of n?
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If k:2 = mz, which of the following must be true?

A k=m

B k=-m
C k=|m|
D k=-m|
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If 893 * 78 = p, which of the following is equal to 893 * 79?
p+1
p+78

p+79
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p+893

m

p +894
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Last Sunday a certain store sold copies of Newspaper A for $1.00 each and copies of Newspaper B for $1.25 each, and the store sold no other newspapers that day. If r

percent of the store’s revenues from newspaper sales was from Newspaper A and if p percent of the newspapers that the store sold were copies of newspaper A, which of
the following expresses r in terms of p?

A %
B %
c %
b %
E =008

2% — p
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Raffle tickets numbered consecutively from 101 through 350 are placed in a box. What is the probability that a ticket selected at random will have a number with a hundreds
digit of 2 ?

A+
B+
¢ =
> %
E 100
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When Leo imported a certain item, he paid a 7 percent import tax on the portion of the total value of the item in excess of $1,000. If the amount of the import tax that Leo paid
was $87.50, what was the total value of the item?

$1,600

A

B $1,850
C  $2,250
D

$2,400

E $2750
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A rectangular garden is to be twice as long as it is wide. If 360 yards of fencing, including the gate, will completely enclose the garden, what will be the length of the garden, in
yards?

A 120
B 140
C 160
D 180

E 200
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At a supermarket John spent % of his money on fresh fruits and vegetables,% on meat products, and % on bakery products. If he spent the remaining $6 on candy, how
much did John spend at the supermarket?

$90

A
B $80
[
D

$120

E $180
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If n is a prime number greater than 3, what is the remainder when n? is divided by12?
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If nis an integer greater than 6, which of the following must be divisible by 3?
n (n+1) (n-4)
n (n+2) (n-1)

n (n+3) (n-5)
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